
CHEMISTRY

BOOKS - TARGET CHEMISTRY

(HINGLISH)

NATURE OF CHEMICAL BOND

Classical Thinking

1. Most stable electronic configuration is of

_________.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_6rO0rkaDO1Cw


A. noble gases

B. alkali metals

C. alkaline earth metals

D. halogens

Answer: A

Watch Video Solution

2. A chemical bond may be _________ in nature.

A. ionic

https://dl.doubtnut.com/l/_6rO0rkaDO1Cw
https://dl.doubtnut.com/l/_vC1yV49dM8zl


B. covalent

C. metallic

D. all of these

Answer: D

Watch Video Solution

3. According to the electronic theory of

chemical bonding, developed independently

by  and Lewis, the atoms of

representative elements can combine either

K ӫ ssel

https://dl.doubtnut.com/l/_vC1yV49dM8zl
https://dl.doubtnut.com/l/_uDzID0RvVh16


by the transfer of valence electrons from one

atom to another (gaining or losing) or by the

sharing of valence electrons in order to have

an octet in their ______________. This is known as

octet rule.

A. 4

B. 2

C. 6

D. 8

Answer: D

https://dl.doubtnut.com/l/_uDzID0RvVh16


Watch Video Solution

4. Which of the following Lewis symbols is

INCORRECT ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution
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https://dl.doubtnut.com/l/_uDzID0RvVh16
https://dl.doubtnut.com/l/_K9OWAXZKScxe


5. Electropositive element forms an ion by

________.

A. gaining electron(s) readily

B. losing electron(s) readily

C. sharing the electron(s) readily

D. accepting a proton

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_K9OWAXZKScxe
https://dl.doubtnut.com/l/_WrKMlCiRnODh


6. Ionic bonds are formed between __________.

A. negatively charged ions

B. oppositely charged ions

C. neutral atoms

D. positively charged ions

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_nbcLIwgz4xvl


7. Which of the following is an ionic compound

?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NaCl

NH3

C2H6

CH4

https://dl.doubtnut.com/l/_yQQsqVRE52er
https://dl.doubtnut.com/l/_bMw6lmTdyzBh


8. Element 'X' , whose atoms have an outer -

shell electronic configuration , is most

likely to react chemically to form ions, which

have a charge of ________.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ns2np4

2 +

1 +

1 −

2 −

https://dl.doubtnut.com/l/_bMw6lmTdyzBh


9. The charge on a cation M is +2 and on an

anion A is -3. The compound formed by them

has teh formula __________.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

MA2

M2A

M3A2

M2A3

https://dl.doubtnut.com/l/_bMw6lmTdyzBh
https://dl.doubtnut.com/l/_wd3QvMJAliG3


10. Bond formed between two unlike atoms

with little electronegativily difference is

generally ________.

A. ionic

B. covalent

C. metallic

D. co-ordinate

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_wd3QvMJAliG3
https://dl.doubtnut.com/l/_Y9hYFDavTBBE


11. Which of the following statements

concerning a covalent bond is FALSE ?

A. The electrons are shared between

atoms.

B. The bond is non-directional

C. The strength of the bond depends upon

the extent of overlapping.

https://dl.doubtnut.com/l/_Y9hYFDavTBBE
https://dl.doubtnut.com/l/_RU7b4bcKkqNy


D. The bond formed may be polar on non-

polar.

Answer: B

Watch Video Solution

12. Bond between Cl-Cl is ________.

A. co-ordinate

B. ionic

C. covalent

https://dl.doubtnut.com/l/_RU7b4bcKkqNy
https://dl.doubtnut.com/l/_dkXwCuPiXxSq


D. metallic

Answer: C

Watch Video Solution

13. In a double bond connecting two atoms

there is a sharing of

A. one

B. two

C. four

https://dl.doubtnut.com/l/_dkXwCuPiXxSq
https://dl.doubtnut.com/l/_j4nizz7PnGAU


D. five

Answer: C

Watch Video Solution

14. The electron not representation of

covalent molecules is also known as _________

structures.

A. Rutherford's

B. Bohr's

https://dl.doubtnut.com/l/_j4nizz7PnGAU
https://dl.doubtnut.com/l/_B3YyUr0qUXtU


C. Lewis

D. Millikan's

Answer: C

Watch Video Solution

15. The correct electron dot structure of a

water molecule is

A. 

B. 

H
.

× O
.

× H

H
.

× O
× ×

×
.
H

https://dl.doubtnut.com/l/_B3YyUr0qUXtU
https://dl.doubtnut.com/l/_yVuiQ6nifMEF


C. 

D. 

Answer: C

Watch Video Solution

H
.

×
× ×

O
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.
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× ×

O
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16. Beryllium has 2 electrons in its outer shell.

so according to octet rule it will form bonds

with __________.

A. 6 Cl atoms

https://dl.doubtnut.com/l/_yVuiQ6nifMEF
https://dl.doubtnut.com/l/_jiASH1mq1G7z


B. 2 Cl atoms

C. 4 Cl atoms

D. 1 Cl atom

Answer: B

Watch Video Solution

17. Which of the following compounds is

having an expanded octet?

A. AlCl3

https://dl.doubtnut.com/l/_jiASH1mq1G7z
https://dl.doubtnut.com/l/_Z6zF0pOE2SOh


B. 

C. 

D. 

Answer: C

Watch Video Solution

CCl4

PCl5

BF3

18. How many electrons will be around S in

?

A. 8

SF6

https://dl.doubtnut.com/l/_Z6zF0pOE2SOh
https://dl.doubtnut.com/l/_q2d9FowxyeaN


B. 10

C. 6

D. 12

Answer: D

Watch Video Solution

19. The electron dot structure of NO is

_________.

A. ⋅
..

N =
..

O
..

https://dl.doubtnut.com/l/_q2d9FowxyeaN
https://dl.doubtnut.com/l/_DeNUldVRNaSa


B. 

C. 

D. 

Answer: A

Watch Video Solution

..

N
..

=
..

O
..

..

N = O :

:
..

N =
..

O ⋅

20. Bond energy is defined as _________.

A. amount of energy required to break one

mole of bonds between two atoms in a

https://dl.doubtnut.com/l/_DeNUldVRNaSa
https://dl.doubtnut.com/l/_oMEZA1HFc8fN


gaseous state

B. average of the bond energies of the

constituent molecules

C. energy required for an electron jump

from lower to higher orbital

D. energy released during electron jump

from higher to lower orbitals

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_oMEZA1HFc8fN
https://dl.doubtnut.com/l/_jNWBu9dCSeZU


21. Bond length is defined as _________.

A. twice the distance between the nuclei of

two covalently bonded atoms.

B. the average distance between the

centres of nuclei of the two covalently

bonded atoms

C. the sum of the radius of the two

covalently bonded atoms i.e., r1 + r2

https://dl.doubtnut.com/l/_jNWBu9dCSeZU


D. the difference between the radius of the

two covalently bonded atoms i.e.,

Answer: B

Watch Video Solution

r1 − r2

22. The bond energy of  is greater than that

of  because of _________.

A. smaller bond length

H2

I2

https://dl.doubtnut.com/l/_jNWBu9dCSeZU
https://dl.doubtnut.com/l/_Vd6y7KDbydGq


B. larger bond length

C. larger difference in the electronegativity

in  molecule

D. large value of electronegativity of iodine

Answer: A

Watch Video Solution

I2

23. Which type of bonds are present in

CH3COO
−Na+

https://dl.doubtnut.com/l/_Vd6y7KDbydGq
https://dl.doubtnut.com/l/_zz2sU2RNQwzR


A. Ionic

B. Metallic

C. covalent

D. Both A and C

Answer:

Watch Video Solution

24. Resonating structures have different

________.

https://dl.doubtnut.com/l/_zz2sU2RNQwzR
https://dl.doubtnut.com/l/_7EQ68SStDQtH


A. atomic arrangements

B. electronic arrangements

C. functional groups

D. alkyl groups

Answer: B

Watch Video Solution

25. Which of the following exhibits resonance?

A. O3

https://dl.doubtnut.com/l/_7EQ68SStDQtH
https://dl.doubtnut.com/l/_eIl34jdV5Wym


B. 

C. 

D. 

Answer: A

Watch Video Solution

NH3

CH4

H2O

26. Which of the following is INCORRECT about

resonance?

https://dl.doubtnut.com/l/_eIl34jdV5Wym
https://dl.doubtnut.com/l/_OeNTcDaERMjb


A. Canonical forms have higher energies

than resonating hybrid structure.

B. Resonace energy =Energy of resonanace

hybrid-most stable canonical form.

C. Hybrid structure is least stable.

D. Hybrid structure is least energetic.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_OeNTcDaERMjb


27. A bond is said to be 50% ionic, when the

difference in the electronegativity value of the

participating atoms is _______.

A. equal to 1.7

B. less than 1.7

C. more than 1.7

D. less than 1.17

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_FVVmx5NNEKtM


28. Which of the following molecule has a net

dipole moment?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CCl4

BF3

CH4

NH3

https://dl.doubtnut.com/l/_ioX6Z3ad7s92
https://dl.doubtnut.com/l/_UlCvbbG67qm3


29. Lil is more covalent than LiCi because

_________.

A. I is less electronegative than CI

B.  is larger than 

C. I is more electronegative than Cl

D.  is smaller anion than 

Answer: B

Watch Video Solution

I − Cl−

I − Cl−

https://dl.doubtnut.com/l/_UlCvbbG67qm3


30. When a molecule is formed by the

combinaiton of two atoms having small

difference in the electronegativeties, ________.

A. only forces of attraction between them

operate

B. only forces of repulsion between them

operate

C. forces of attraction or repulsion play no

part

https://dl.doubtnut.com/l/_YZ7ivZtyny85


D. force of both attraction and repulsion

operate

Answer: D

Watch Video Solution

31. When total attractive forces between two

atoms approaching each other is greater than

total repulsive force then, potential energy of

the system ________.

https://dl.doubtnut.com/l/_YZ7ivZtyny85
https://dl.doubtnut.com/l/_JRXg9M9jsdTS


A. increases

B. remains constant

C. decreases

D. is zero

Answer: C

Watch Video Solution

32. In a hydrogen molecules, the attractive and

repulsive force between the atoms are

balanced at _________.

https://dl.doubtnut.com/l/_JRXg9M9jsdTS
https://dl.doubtnut.com/l/_S6DMVfFQAGGz


A. 77.4 pm

B. 74.0 pm

C. 74.7 pm

D. 70.4 pm

Answer: B

Watch Video Solution

33. Covalent bond formation in  involves

________ overlap.

H2

https://dl.doubtnut.com/l/_S6DMVfFQAGGz
https://dl.doubtnut.com/l/_hsFCxUtsUMGT


A. s-s

B. s-p

C. p-p

D. s-d

Answer: A

Watch Video Solution

34. Fluorine molecule is formed by

A. the co-axial p-p orbital overlap

https://dl.doubtnut.com/l/_hsFCxUtsUMGT
https://dl.doubtnut.com/l/_jz4UZPmEdXGE


B. the lateral p-p orbital overlap

C. s-s orbital overlap

D. s-p orbital overlap

Answer: A

Watch Video Solution

35. s-p overlap is defined as the overlapping

between __________.

https://dl.doubtnut.com/l/_jz4UZPmEdXGE
https://dl.doubtnut.com/l/_9TIlv2iKfm1e


A. half filled s-orbital of one atom and

completely electrons with opposite spins

B. half filled s-orbital of another atom

containing electron with parallel spins

C. half filled s-orbital of one atom and half

filled p-orbital of another atom

containing electron with opposite spins

D. half filled s-orbital of one atom and half

filled p-orbital of another atom

containing electron with parallel spins

https://dl.doubtnut.com/l/_9TIlv2iKfm1e


Answer: C

Watch Video Solution

36.  (X = halogen) bond is formed due

to ________.

A. s-s overlap

B. s-d overlap

C. s-p overlap

D. p-p overlap

H − X

https://dl.doubtnut.com/l/_9TIlv2iKfm1e
https://dl.doubtnut.com/l/_yOaYa5d3aW09


Answer: C

Watch Video Solution

37. A sigma bond is formed by overlapping of

_________.

A. p orbitals when they are perpendicular

to each other

B. s-s, s-p or p-p orbitals along their axis

C. only s-s orbitals

https://dl.doubtnut.com/l/_yOaYa5d3aW09
https://dl.doubtnut.com/l/_HCakGFn0ftHM


D. s-p orbitals

Answer: B

Watch Video Solution

38. Hybridisation involves

A. addition of an electron pair

B. mixing up of atomic orbitals

C. removal of an electron pair

D. separation of orbitals

https://dl.doubtnut.com/l/_HCakGFn0ftHM
https://dl.doubtnut.com/l/_QO0g0snxyZIb


Answer: B

Watch Video Solution

39. How many sigma bonds are there in oxalic

acid ?

Watch Video Solution

40. The oxygen molecule contains __________.

A. two -bondsσ

https://dl.doubtnut.com/l/_QO0g0snxyZIb
https://dl.doubtnut.com/l/_exY9rtTuvx4X
https://dl.doubtnut.com/l/_0prUobvYbl59


B. two -bonds

C. one - bond and one -bond

D. ionic bond

Answer: C

Watch Video Solution

π

σ π

41. Which of the following statement is

INCORRECT for ?

A. All the P-Cl bond lengths are equal.

PCl5

https://dl.doubtnut.com/l/_0prUobvYbl59
https://dl.doubtnut.com/l/_RiJ85zLjkvHV


B. It involves  hybridisation

C. The two axial bonds make an angle of

 with the equatorial plane.

D. Its shape is trigonal bipyramidal .

Answer: A

Watch Video Solution

sp3

90∘

42. Which of the following is the electronic

configuration of nitrogen atom in ground

state?

https://dl.doubtnut.com/l/_RiJ85zLjkvHV
https://dl.doubtnut.com/l/_XPLxMkDZsavW


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

43. The bond angle in ammonia is _________.

A. 107∘ 18'

https://dl.doubtnut.com/l/_XPLxMkDZsavW
https://dl.doubtnut.com/l/_TcewQIp4VcG0


B. 

C. 

D. 

Answer: A

Watch Video Solution

109∘ 28'

90∘

120∘

44. The hybridisation in  is ________.

A. sp

B. 

BF3

sp3d

https://dl.doubtnut.com/l/_TcewQIp4VcG0
https://dl.doubtnut.com/l/_YCnO5HTwjJAM


C. 

D. 

Answer: C

Watch Video Solution

sp2

sp3

45. In  molecule, formation of pi bond is

due to the overlapping of ________.

A. unhybridised p orbitals of the same

carbon atom

C2H4

https://dl.doubtnut.com/l/_YCnO5HTwjJAM
https://dl.doubtnut.com/l/_1z45PvBLvuZD


B. unhybridised p orbitals of two carbon

atoms

C. hybrid orbitals of the carbon atom

D. unhybridised s orbitals of hydrogen

atoms

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_1z45PvBLvuZD


46. Type of hybridisation in which 33.3% s-

character and 66.6% p-character is observed is

________.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sp3

sp2

Sp

Sp3d2

https://dl.doubtnut.com/l/_XYQmr2KmrrnY


47. Which of the following hybridised state

CANNOT be shown by carbon?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sp3d

sp2

sp3

Sp

https://dl.doubtnut.com/l/_whW2MprDYS5c
https://dl.doubtnut.com/l/_65JyYc2YHc9H


48. Which of the following is INCORRECT

regarding VSEPR theory?

A. The number of valence shell electron

pairs around the central atom

determines the shape of the molecule

B. the valence shell of the central atom is

considered as spherical surface with

electron pairs localising on it.

C. The valence shell electron pairs repel

one another.

https://dl.doubtnut.com/l/_65JyYc2YHc9H


D. The valence shell electron pair include

only the lone pair of electrons on the

central atom.

Answer: D

Watch Video Solution

49. Which of the following molecules does

NOT contain a lone pair of electron ?

A. NH3

https://dl.doubtnut.com/l/_65JyYc2YHc9H
https://dl.doubtnut.com/l/_hsI7XMmZpBAH


B. 

C. 

D. 

Answer: C

Watch Video Solution

H2O

PF5

ClF3

50. The  is a planar molecule whereas 

 is pyramidal because

BCl3

NCI3

https://dl.doubtnut.com/l/_hsI7XMmZpBAH
https://dl.doubtnut.com/l/_OKmJ0RXWJRDg


A.  has no lone pair of electrons but 

 has a lone pair of electorns

B.  bond is more polar than 

bond

C. nitrogen atom is smaller than boron

atom

D.  bond is more covalent than 

 bond

Answer: A

Watch Video Solution

BCl3

NCl3

B − Cl N − Cl

N − Cl

B − Cl

https://dl.doubtnut.com/l/_OKmJ0RXWJRDg


51. According to VSEPR theory, the shape of

 molecule is _______.

A. linear

B. octahedral

C. bent

D. sea saw

Answer: C

Watch Video Solution

OF2

https://dl.doubtnut.com/l/_OKmJ0RXWJRDg
https://dl.doubtnut.com/l/_alePMEdx5k5U


52. Formation of an excited state is NOT

observed for the formation of ________.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH4

C2H4

NH3

BeF2

https://dl.doubtnut.com/l/_0nkIbup6TVGj
https://dl.doubtnut.com/l/_1SmleFB1rxql


53. Which of the following molecules have a T-

shape?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ClF3

H2O

PCl5

CO2

https://dl.doubtnut.com/l/_1SmleFB1rxql


54.  has __________ shape.

A. see saw

B. square planar

C. angular

D. T shape

Answer: A

Watch Video Solution

SF4

https://dl.doubtnut.com/l/_NbkJj5PfHszQ


55. F-S-F bond angles in  molecule are

_________.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

SF6

180∘ and 90∘

60∘ and 90∘

180∘ and 60∘

120∘ and 90∘

https://dl.doubtnut.com/l/_4kor8NWixdS6
https://dl.doubtnut.com/l/_DbN0qrnFZmwl


56. What is sigma bond ? How many sigma

bonds are present in  ?

Watch Video Solution

C2H2

57. The structure of 

Watch Video Solution

Cr2O
2 −
7

58. Which of the following statements is not

regarding bonding molecular orbitals

https://dl.doubtnut.com/l/_DbN0qrnFZmwl
https://dl.doubtnut.com/l/_lpLai1KK1qsk
https://dl.doubtnut.com/l/_urN0cn2FUmZd


A. Bonding molecular orbitals possess less

energy than the atomic orbitals from

which they are formed

B. Bonding molecular orbitals have low

electron densities between the two

nuclei.

C. every bonding between molecular

orbital contributes to the attraction

between atoms.

https://dl.doubtnut.com/l/_urN0cn2FUmZd


D. They are formed when the lobes of the

combining atomic orbitals have the

same sign.

Answer: B

Watch Video Solution

59. Antibonding molecular orbital is formed by

_________.

https://dl.doubtnut.com/l/_urN0cn2FUmZd
https://dl.doubtnut.com/l/_lSI53Jy7A5sa


A. addition of wave functions of atomic

orbitals

B. subtraction of wave function of atomic

orbitals

C. multiplication of wave function of

atomic orbitals

D. divison of wave function of atomic

orbitals

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_lSI53Jy7A5sa


60. Delta molecular orbitals are formed by

_________ a

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

dxy and dyz

dxy and dx2 −y2

dx2 −y2 and dz2

dxy and dxz

https://dl.doubtnut.com/l/_lSI53Jy7A5sa
https://dl.doubtnut.com/l/_twWnXyKK1zFg


61. A diatomic molecule is NOT formed by

__________.

A. H

B. O

C. He

D. C

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_VJRKwMYBIEwy
https://dl.doubtnut.com/l/_UlnHwuHwM6Uu


62. Hydrogne bonding is formed in

compounds containing hydrogen and _________.

A. highly electronegative atoms

B. highly electropositive atoms

C. metal atoms with d-orbitals occupied

D. metalloids

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_UlnHwuHwM6Uu


63. strongest hydrogen bonding is shown by

A. water

B. hydrogen fluoride

C. ammonia

D. hydrogen sulphide

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_0d8CeQVG1ZbN


64. Total number of  bonds in 


 is

________.

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

π

CH3 − CH = CH − CH2 − C ≡ CH

https://dl.doubtnut.com/l/_Cz1HUVKBJBq3


Critical Thinking

1. According to octet rule, during bond

formation __________.

A. the combining atoms tend to acquire a

noble gas configuration

B. the combining atoms have no tendency

to acquire stable configuration

C. the combining atoms merely change

their configuration

https://dl.doubtnut.com/l/_VifeUAfekxfI


D. combining atoms try to attain maximum

potential energy

Answer: A

Watch Video Solution

2. Write the chemical equation when borax

dissolve in water ?

Watch Video Solution

https://dl.doubtnut.com/l/_VifeUAfekxfI
https://dl.doubtnut.com/l/_vB8IxSPce2M2


3. The force, which holds atoms together in an

electrovalent bond, is _________.

A. van der Waal's force

B. dipole attraction force

C. electrostatic force of attraction

D. hydrogen bonding

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_UAYLrnAojbbt
https://dl.doubtnut.com/l/_2XuhnjOXH5VF


4. An element 'X' (Z=12) combines with element

'Y' (Z=17) to form an electrovalently bonded

compound. Which of the following is FALSE for

the formed compound?

A. The electrovalence of X and Y in the

compound will be 2 and 1 respectively.

B. The cation of X attains the stable inert

gas configuration of neon

C. The anion of Y attains the stable inert

gas configuration of krypton.

https://dl.doubtnut.com/l/_2XuhnjOXH5VF


D. The empirical formula of the compound

formed will be 

Answer: C

Watch Video Solution

XY2

5. From the following which group of elements

easily forms cation

A. 

B. 

F , Cl, Br

Li, Na, K

https://dl.doubtnut.com/l/_2XuhnjOXH5VF
https://dl.doubtnut.com/l/_lvCWrRmS19KU


C. 

D. 

Answer: B

Watch Video Solution

O, S, Se

n, p, As

6. What happen when diborane is heated with

ammonia ?

Watch Video Solution

https://dl.doubtnut.com/l/_lvCWrRmS19KU
https://dl.doubtnut.com/l/_v09KsCTqPh5U


7. During the formation of  molecule,

each chlorine atom contributes _________

electron(s) to the shared pair.

A. one

B. two

C. three

D. four

Answer: A

Watch Video Solution

CCl4

https://dl.doubtnut.com/l/_cKA1I4SaiXPj


8. If the structural formula of HCN is

, its Lewis dot formula is _______.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H − C ≡ N

H
⋅

× C
.
:

×
×
×
N

×
×

H
⋅

× C
.
:

×
×
×
N

H
⋅

× C :
×

× N :

H
⋅

× C :
×

×
.

N :

https://dl.doubtnut.com/l/_PMP19lYFIfR5
https://dl.doubtnut.com/l/_yPRlJ3SnWWrX


9. Describe structure of BuckminsterFullerence

?

Watch Video Solution

10. Which of the following molecule does NOT

obey octet rule?

A. 

B. 

C. 

D. 

BF3

CO2

H2O

N2

https://dl.doubtnut.com/l/_yPRlJ3SnWWrX
https://dl.doubtnut.com/l/_fQgWYRZGxHxE


Answer: A

Watch Video Solution

11. What is producer gas ?

Watch Video Solution

12. Which of the following carbon-carbon

bonds has the highest energy?

A. C2H6

https://dl.doubtnut.com/l/_fQgWYRZGxHxE
https://dl.doubtnut.com/l/_pJOCP5KIDXJH
https://dl.doubtnut.com/l/_FANQVQUyaLEh


B. 

C. 

D. 

Answer: C

Watch Video Solution

C2H4

C2H2

C3H8

13. Total energy required to break all the

bonds in the gaseous state molecule of 

is . Then the bond energy of the

bond A-B in the molecule will be ________.

AB2

xkJmol− 1

https://dl.doubtnut.com/l/_FANQVQUyaLEh
https://dl.doubtnut.com/l/_uRSN3bNgbOWY


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

kJmol− 1x

2

kJmol− 1x

3

2xkJmol− 1

2 kJmol− 1x

2

14. Which among the following pairs have

same bond order?

https://dl.doubtnut.com/l/_uRSN3bNgbOWY
https://dl.doubtnut.com/l/_GXnZE8beTrzT


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

N2, O2 −
2

N2, CO

F2, CO

O−
2 , CO

15. Which of the following bonds will be most

polar?

https://dl.doubtnut.com/l/_GXnZE8beTrzT
https://dl.doubtnut.com/l/_p611AB6uHXhz


A. C-F

B. C-N

C. N-F

D. N-O

Answer: A

Watch Video Solution

16. The bonds between P atoms and Cl atoms

in  are likely to bePCl5

https://dl.doubtnut.com/l/_p611AB6uHXhz
https://dl.doubtnut.com/l/_SA3MvGDwZzXP


A. ionic with no covalent character

B. covalent with some ionic character

C. covalent with no ionic character

D. ionic with some metallic character

Answer: B

Watch Video Solution

17.  is more polar than  because

_________.

NH3 NF3

https://dl.doubtnut.com/l/_SA3MvGDwZzXP
https://dl.doubtnut.com/l/_KzXHEJuxag90


A. F is more electornegative than H

B.  has three lone pairs on each F

atom

C. the orbital dipole due to lone pair on N

is in same direction as the resultant

dipole moment of N-H bonds in 

D. the orbital dipole due to lone pair on N

is in opposite direction as the resultant

dipole moment of N-H bonds in 

Answer: C

NF3

NH3

NH3

https://dl.doubtnut.com/l/_KzXHEJuxag90


Watch Video Solution

18. Maximum covalent character is associated

with which of the following compound ?

A. NaI

B. 

C. 

D. 

Answer: D

MgI2

AlCI3

AlI3

https://dl.doubtnut.com/l/_KzXHEJuxag90
https://dl.doubtnut.com/l/_B4aoYC8Cx518


Watch Video Solution

19. Write product of the following reaction :- 

Watch Video Solution

Fe2O3 + CO →

20. Which of the following will provide the

most efficient overlap?

A. 

B. 

s − s

px − px

https://dl.doubtnut.com/l/_B4aoYC8Cx518
https://dl.doubtnut.com/l/_vT0B8RWXcKmy
https://dl.doubtnut.com/l/_xzEMlOlM5vw3


C. 

D. 

Answer: A

Watch Video Solution

pz − pz

py − py

21. In hybridisation, mixing of ________ takes

place.

A. orbitals of different principal quantum

number

https://dl.doubtnut.com/l/_xzEMlOlM5vw3
https://dl.doubtnut.com/l/_1h70Bw9RWnQe


B. orbitals of same principal quantum

number

C. orbitals of different azimuthal quantum

number

D. both (B) and (C)

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_1h70Bw9RWnQe


22. Write product of the following reaction :- 

Watch Video Solution

CaCO3 + HCl →

23. Methane molecule contains _________ lone

pairs and _______bond pairs respectively.

A. four,zero

B. three, one

C. one, three

https://dl.doubtnut.com/l/_JHGAajKn2Lag
https://dl.doubtnut.com/l/_PpJH66AOTh3O


D. zero, four

Answer: D

Watch Video Solution

24. A hybrid orbital formed from s and p-

orbital can contribute to

A.  bond only

B. either  or  bond

C.  bond only

σ

σ π

π

https://dl.doubtnut.com/l/_PpJH66AOTh3O
https://dl.doubtnut.com/l/_JO1qhzkhLG73


D. none of these

Answer: A

Watch Video Solution

25. Which of the following molecule has a

linear shape?

A. 

B. 

C. 

BeCl2

BF3

CH4

https://dl.doubtnut.com/l/_JO1qhzkhLG73
https://dl.doubtnut.com/l/_gwEiTTJOD9Zx


D. 

Answer: A

Watch Video Solution

C2H4

26. Which of the following statement is not

correct for sigma and pi- bonds formed

between two carbon atoms ?

A. Sigma bond is stronger than pi-bond

https://dl.doubtnut.com/l/_gwEiTTJOD9Zx
https://dl.doubtnut.com/l/_5A4q717ZzxJd


B. pi bonds are formed between hybrid

orbitals between unhybridised orbitals

C. Free rotation of atoms around a sigma

bond is allowed but not in case of a pi

bond.

D. Sigma bond is directional but a pi bond

has no primary effect in this regard.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_5A4q717ZzxJd
https://dl.doubtnut.com/l/_klZgHgXS1sQM


27. Which of the following is TRUE regarding

hybridisation in ?

A. All the bond angles in  are

equivalent.

B. Axial and equatorial bonds have same

bond length

C. On orbital overlap between phosphorus

and chlorine atom, five  sigma

covalent bond are formed.

PCl5

PCl5

sp3d − p

https://dl.doubtnut.com/l/_klZgHgXS1sQM


D. Axia and equatorial bonds have

equivalent bond energies.

Answer: C

Watch Video Solution

28. Which of the following does NOT have lone

pair over the central atom?

A. 

B. 

NH3

PH3

https://dl.doubtnut.com/l/_klZgHgXS1sQM
https://dl.doubtnut.com/l/_hBSP5ymmi5E3


C. 

D. 

Answer: C

Watch Video Solution

BF3

PCl3

29. The bond angle in  molecule is less

than that of  molecule because__________.

A. the hybridisation of  and  is

different

H2O

NH3

H2O NH3

https://dl.doubtnut.com/l/_hBSP5ymmi5E3
https://dl.doubtnut.com/l/_RLgALpSqhO3D


B. the atomic radii of N and O are different

C. there is one lone pair of electorns on O

and two lone pair of electrons on N

D. there are two lone pairs of electrons on

O and one lone pair of electrons of N

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_RLgALpSqhO3D


30. As the electronegative increases from

iodine to fluorine, the bond angle _________,

from  to .

A. increases

B. remains same

C. decreases

D. doubled

Answer: C

Watch Video Solution

PI3 PF3

https://dl.doubtnut.com/l/_E4baI0Mvd2Ei


31. What happens when HCOOH is heated at

373K with conc.  ?

Watch Video Solution

H2SO4

32. Write the resonance structure of  .

Watch Video Solution

CO2

33.  orbital of one atom do not combine

with  orbital of another atom because of

2pz

2px

https://dl.doubtnut.com/l/_JoxTELUnsfMc
https://dl.doubtnut.com/l/_lIoC53mriDEi
https://dl.doubtnut.com/l/_MmBJ4bENOlan


their __________.

A. same energy

B. same symmetries

C. different symmetries

D. different shell

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_MmBJ4bENOlan


34. What happens when  is heated at

570K in presence of Cu powder and Si ?

Watch Video Solution

CH3Cl

35. For a stable molecule the value of bond

order should be

A. negative

B. positive

C. zero

https://dl.doubtnut.com/l/_SOyiB351U6Xr
https://dl.doubtnut.com/l/_WZ5SxxZF0roE


D. either (A) or (C)

Answer: B

Watch Video Solution

36. The molecular orbital configuration of a

diatomic molecule is 

 


Its bond order is _________.

A. 3

σ1s2σ ∗ 1s2σ2s2σ ∗ 2s2σ2p2
xπ2p2

yπ2p2
z

https://dl.doubtnut.com/l/_WZ5SxxZF0roE
https://dl.doubtnut.com/l/_JcHG5hjDncVM


B. 2.5

C. 2

D. 1

Answer: A

Watch Video Solution

37. Which of the following molecule has

highest bond energy?

A. F2

https://dl.doubtnut.com/l/_JcHG5hjDncVM
https://dl.doubtnut.com/l/_PuVgMqWBMZoZ


B. 

C. 

D. 

Answer: C

Watch Video Solution

C2

N2

O2

38. Which of the following does NOT exist on

the basis of molecular orbital theory?

A. C2

https://dl.doubtnut.com/l/_PuVgMqWBMZoZ
https://dl.doubtnut.com/l/_nmVf0dgTaNoN


B. 

C. 

D. 

Answer: C

Watch Video Solution

B2

He2

Li2

39. Which of the following is CORRECT with

respect to decreasing order of their bond

orders?

https://dl.doubtnut.com/l/_nmVf0dgTaNoN
https://dl.doubtnut.com/l/_oeD3kftsjFtj


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

N2 > C2 > B2 > Be2

N2 > C2 > Be2 > B2

N2 = C2 > B2 > Be2

N2 = C2 > Be2 > B2

40. The bond order of  and  are _________

respectively.

O2 O+
2

https://dl.doubtnut.com/l/_oeD3kftsjFtj
https://dl.doubtnut.com/l/_zf9A7TwUlph2


A. 

B. 

C. 1 and 2

D. 2 and 1

Answer: B

Watch Video Solution

2 and 1
1

2

2 and 2
1

2

41. What are the uses of zeolites ?

Watch Video Solution

https://dl.doubtnut.com/l/_zf9A7TwUlph2
https://dl.doubtnut.com/l/_kKUutcZd4CVi


42. Which of the following molecules shows

intramolecular hydrogen bonding?

A. Benzoic acid

B. Salicylaldehyde

C. Benzaldehyde

D. Phenol

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_kKUutcZd4CVi
https://dl.doubtnut.com/l/_HXIcCEGiAC3o
https://dl.doubtnut.com/l/_TgZICJZGEHxj


43. What do you mean by silicones ?

Watch Video Solution

44.  is dipolar, whereas  is not. It is

because

A.  is linear and  is angular

B.  is angurlar and  in linear

C. the electronegativity of F is greater than

that of O

H2O BeF2

H2O BeF2

H2O BeF2

https://dl.doubtnut.com/l/_TgZICJZGEHxj
https://dl.doubtnut.com/l/_v2SDUXEITphH


Competitive Thinking

D.  involves hydrogen bonding

whereas  is a discrete molecule

Answer: B

Watch Video Solution

H2O

BeF2

1. If the atomic number of element X is 7, the

best electron dot symbol for the element is

_________.

https://dl.doubtnut.com/l/_v2SDUXEITphH
https://dl.doubtnut.com/l/_WfxVKlTUlosC


A. X

B. 

C. 

D. 

Answer: C

Watch Video Solution

. X.

⋅
⋅
X
⋅

:

:
..

X
..

:

2. Ionic bonds are usually formed by

combination of elements with _________.

https://dl.doubtnut.com/l/_WfxVKlTUlosC
https://dl.doubtnut.com/l/_FJyDceupYBr5


A. high ionisation potiential and low

electron affinity

B. low ionisation potiential and high

electron affinity

C. high ionisation potiential and high

electron affinity

D. low ionisation potiential and low

electron affinity

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_FJyDceupYBr5


3. Bond formed in crystal by anion and cation

is _________.

A. ionic

B. metallic

C. convalent

D. dipole

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_FJyDceupYBr5
https://dl.doubtnut.com/l/_nNIWpDobXD2t


4. What is the effect of more electronegative

atoms on the strength of an ionic bond ?

A. Decreases

B. Increases

C. Decreases slowly

D. Remain the same

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_0obOdUaSV6cy
https://dl.doubtnut.com/l/_XvNiDU86N6pb


5. An element X with the electronic

configuration  would be expected

to form the chloride with the formula ________.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1s22s22p63s2

XCl3

XCl2

XCL

X2Cl

https://dl.doubtnut.com/l/_XvNiDU86N6pb
https://dl.doubtnut.com/l/_omHYr7GlkzNE


6. Which of the following compounds is

covalent?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H2

CaO

KCl

MgCl2

https://dl.doubtnut.com/l/_omHYr7GlkzNE


7. The number of electrons involved in the

bond formation of  molecule are ________.

A. 2

B. 4

C. 6

D. 10

Answer: C

Watch Video Solution

N2

https://dl.doubtnut.com/l/_Hdjs354EuAsJ
https://dl.doubtnut.com/l/_EnQmKMa1AJS9


8. Number of electrons in the valence orbit of

nitrogen in an ammonia molecule are

A. 8

B. 5

C. 6

D. 7

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_EnQmKMa1AJS9


9. Write the product obtained on action of

oxygen on diborane ?

Watch Video Solution

10. The molecule having one unpaired electron

is

A. NO

B. CO

C. CN −

https://dl.doubtnut.com/l/_Kh2639lauXnv
https://dl.doubtnut.com/l/_xqVBvBtpTD1S


D. 

Answer: A

Watch Video Solution

O2

11. Which of the following bonds require the

largest amount of bond energy to dissociate

the atoms concerned ?

A. H-H bond in 

B. C-H bond 

H2

CH4

https://dl.doubtnut.com/l/_xqVBvBtpTD1S
https://dl.doubtnut.com/l/_HJBk4NPa3QCL


C.  bond in 

D. O=O bond in 

Answer: C

Watch Video Solution

N ≡ N N2

O2

12. The bond order in NO is 2.5 while that in

 is 3. Which of the following statements

is true for these two species ?

NO+

https://dl.doubtnut.com/l/_HJBk4NPa3QCL
https://dl.doubtnut.com/l/_p6fHCm2BeLXq


A. Bond length in  is equal to that in

NO.

B. Bond length in  is greater than in 

C. Bond length in  is greater than in 

.

D. Bond length is unpredictable.

Answer: B

Watch Video Solution

NO+

NO

NO+

NO+

NO

https://dl.doubtnut.com/l/_p6fHCm2BeLXq
https://dl.doubtnut.com/l/_gLKz2kLrIFNG


13. Resonance occurs due to the :

A. delocalization of sigma electrons

B. delocalization of pi electrons

C. migration of H atoms

D. migration of proton

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_gLKz2kLrIFNG


14. The unequal sharing of bonded pair of

electrons between two atoms in a molecule

causes ___________.

A. dipole

B. redical formation

C. covalent

D. decomposition of molecule

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_11BROz1LMoMZ


15. Pauling's electronegativity values for

elements are useful in predicting

A. polarity of bonds in molecules

B. position of elements in electrochemical

series

C. co-ordination number

D. dipole moment of various molecules

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_VDoMpsWab6Dr


16. Bond polarity of diatomic molecule is

because of _________.

A. difference in electron affinities of the

two atoms

B. difference in electronegativities of the

two atoms

C. difference in ionisation potential

D. difference in atomic radii

Answer: B

https://dl.doubtnut.com/l/_VDoMpsWab6Dr
https://dl.doubtnut.com/l/_LvcbdeduFg6f


Watch Video Solution

17. In a polar molecule , the ionic charge is

 esu. If the interatomic distance is 

 unit, then the dipole moment is

A. 41.8 Debye

B. 4.18 Debye

C. 4.8 Debye

D. 0.48 Debye

Answer: C

4.8 × 10− 10

1Å

https://dl.doubtnut.com/l/_LvcbdeduFg6f
https://dl.doubtnut.com/l/_qvanVYGlqhyo


Watch Video Solution

18. The dipole moment of  is zero because

________.

A. it is covalent molecule

B. it is a tetraatomic molecule

C. it is having trigonal planar geometry

D. the electronegativeity difference

between boron and fluorine is more

BF3

https://dl.doubtnut.com/l/_qvanVYGlqhyo
https://dl.doubtnut.com/l/_vqQAfRvpHUJs


Answer: C

Watch Video Solution

19. Carbon tetrachloride has no net dipole

moment because of

A. its planar structure

B. its regular tetrahedral structure

C. similar sizes of carbon and chlorine

atoms

https://dl.doubtnut.com/l/_vqQAfRvpHUJs
https://dl.doubtnut.com/l/_5EIhCRTqQc9A


D. similar electrons affinities of carbon and

chlorine

Answer: B

Watch Video Solution

20. Identify the non-polar molecule in the set

of compounds given HCl, HF,  , HBr.

A. 

B. 

H2

H2

HCl

https://dl.doubtnut.com/l/_5EIhCRTqQc9A
https://dl.doubtnut.com/l/_lqq3RnscPhsN


C. 

D. 

Answer: A

Watch Video Solution

HF

HBr

21. Which molecule has the largest dipole

moment?

A. HCl

B. HI

https://dl.doubtnut.com/l/_lqq3RnscPhsN
https://dl.doubtnut.com/l/_BOmmgJU2Zx0Q


C. HBr

D. HF

Answer: D

Watch Video Solution

22. Which molecules has zero dipole moment ?

A. 

B. 

C. 

H2O

CO2

HF

https://dl.doubtnut.com/l/_BOmmgJU2Zx0Q
https://dl.doubtnut.com/l/_kcKWObc5ul1r


D. 

Answer: B

Watch Video Solution

HBr

23. Write the structure of inorganic benzene ?

Watch Video Solution

24. The compound that will have a permanent

dipole moment among the following is: 

https://dl.doubtnut.com/l/_kcKWObc5ul1r
https://dl.doubtnut.com/l/_sZ7yDmk29h6J
https://dl.doubtnut.com/l/_kM4sPGFb1rY8


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_kM4sPGFb1rY8
https://dl.doubtnut.com/l/_My8gJqNOvTrs


25. polarisibility of halide ions increasing in

the order

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

F − , I − , Br− , Cl−

Cl− , Br− , I − , F −

I − , Br− , CI − , F −

F − , Cl− , Br− , I −

https://dl.doubtnut.com/l/_My8gJqNOvTrs


26. Amongst  and 

the compounds whith the greatrest and the

least ionic character respecitely are :

A. LiCi and RbCl`

B. 

C. 

D. 

Answer: B

Watch Video Solution

LiCl, RbCl, BeCl2 MgCl2,

RbCl and BeCl2

RbCl and MgCl2

MgCl2 and BeCl2

https://dl.doubtnut.com/l/_Kr1Efgfh5OgD


27. The correct sequence of increasing

covalent character is represented by

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

LiCi < NaCl < BeCl2

BeCl2 < NaCl < LiCi

NaCl < LiCi < BeCl2

BeCl2 < LiCi < NaCl

https://dl.doubtnut.com/l/_bUBrSiySocYD
https://dl.doubtnut.com/l/_fOTixs7DPHK9


28. Which of the following hybridisation is

known as trigonal hybridisation?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sp3

Sp

sp2

dsp2

https://dl.doubtnut.com/l/_fOTixs7DPHK9


29. In which molecule are all atoms co-planar?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH4

BF3

PF3

NH3

https://dl.doubtnut.com/l/_HWIDHwn5XmzT


30. The species, having bonds angle of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

120∘

PH3

CIF3

NCl3

BCl3

https://dl.doubtnut.com/l/_CVRYgN3eJzaI


31. Formation of  is explained on the

basis of what hybridisation of phosphorus

atom?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

PCl3

sp2

Sp

sp3d

sp3d2

https://dl.doubtnut.com/l/_YihHeq7Xv3OB


32. The main axis of diatomic molecule is .

The orbitals  and  overlap to form

A. - molecular orbital

B. - molecular orbital

C. - molecular orbital

D. no bond

Answer: D

Watch Video Solution

z

px py

π

σ

δ

https://dl.doubtnut.com/l/_Hem86BCvhFyn
https://dl.doubtnut.com/l/_jEZjZidrGVzN


33. Which type of overlapping reusults in the

formation of a  bond?

A. Axial overlapping of s-s orbitals

B. Lateral overlapping of p-p orbitals

C. Axial overlapping of p-p orbitals

D. Axial overlapping of s-p orbitals

Answer: B

Watch Video Solution

π

https://dl.doubtnut.com/l/_jEZjZidrGVzN


34. The structure of  molecule is _________.

A. tetrahedral

B. trigonal bipyramidal

C. square planar

D. pentagonal bipyramidal

Answer: B

Watch Video Solution

PF5

https://dl.doubtnut.com/l/_FSBgLOd7ZXTa


35. The trigonal bipyramidal geometry results

from the hybridisation

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

dsp3 or sp3d

dsp2 or sp2d

d2sp3 or sp3d2

d3sp3 or d2sp3

https://dl.doubtnut.com/l/_VQgGvnrVhX1L
https://dl.doubtnut.com/l/_5NcZoleAbBlr


36. Octahedral molecular shape exists in

_________ hybridisation.

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

sp3d

sp3d2

sp3d3

https://dl.doubtnut.com/l/_5NcZoleAbBlr


37. The structure of  is

A. octahedral

B. pentanonal bipyramidal

C. trigonal bipyramidal

D. tetrahedral

Answer: B

Watch Video Solution

IF7

https://dl.doubtnut.com/l/_9rjuPCvFjOj5


38. In a regular octahedral molecule  the

number of  bonds at  is

A. six

B. four

C. three

D. two

Answer: C

Watch Video Solution

MX6

X − M − X 180∘

https://dl.doubtnut.com/l/_XE6iX4kuvES2
https://dl.doubtnut.com/l/_CmMuexLw16Iu


39. The maximum number of  angles

between bond pair-bond pair of electrons is

observed in

A.  hybridisation

B.  hybridisation

C.  hybridisation

D.  hybridisation

Answer: D

Watch Video Solution

90∘

dsp2

sp3

dsp3

sp3d2

https://dl.doubtnut.com/l/_CmMuexLw16Iu
https://dl.doubtnut.com/l/_Gfoks8skCh6i


40. Predicted the correct order among the

following

A. bond pair - bond pair gt lone pair - bond

pair gt lone pair - lone pair

B. lone pair - bond pair gt bond pair - bond

pair gt lone pair - lone pair

C. lone pair - lone pair gt lone pair -bond

pair gt bond pair - bond pair

D. lone pair - lone pair gt bond pair - bond

pair gt lone pair - bond

https://dl.doubtnut.com/l/_Gfoks8skCh6i


Answer: C

Watch Video Solution

41. In the compound 'X', all the bond angles

are exactly . 'X' may be________.

A. chloromethane

B. iodoform

C. carbon tetrachloride

D. chloroform

109∘ 28

https://dl.doubtnut.com/l/_Gfoks8skCh6i
https://dl.doubtnut.com/l/_7JZ30nzC0R2M


Answer: C

Watch Video Solution

42. In , bond angle is less than

tetrahedral bond angle due to ________.

A. bond pair repulsion

B. lone pair repulsion

C. bond pair-lone pair repulsion

D. none of these

NH3

https://dl.doubtnut.com/l/_7JZ30nzC0R2M
https://dl.doubtnut.com/l/_0yg4MmCOCIxu


Answer: C

Watch Video Solution

43. The bond angle of water is  due to

________.

A. repulsion between lone pair and bond

pair

B.  hybridisation of O

C. higher electronegativity of O

104.5∘

sp3

https://dl.doubtnut.com/l/_0yg4MmCOCIxu
https://dl.doubtnut.com/l/_ltZm2QovZOVJ


D. none of these

Answer: A

Watch Video Solution

44. Consider the molecules  and 

 which of the given statement is false ?

A. The H-O-H bond angle in  is smaller

than the H-N-H bond angle in 

CH4, NH3

H2O

H2O

NH3

https://dl.doubtnut.com/l/_ltZm2QovZOVJ
https://dl.doubtnut.com/l/_Sk2zisge8Ac2


B. The H-O-H bond angle in  is larger

than the H-N-H bond angle in 

C. The H-C-H bond angle in , the H -N-H

bond angle in , and the H-O-H bond

angle in  are all greater than 

D. The H-O-H bond angle in  is larger

than the H-C-H bond angle in .

Answer: D

Watch Video Solution

CH4

NH3

CH4

NH3

H2O 90∘

H2O

CH4

https://dl.doubtnut.com/l/_Sk2zisge8Ac2
https://dl.doubtnut.com/l/_CQ0panHPx4Fy


45. In Which of the following is the angle

between the two covalent bonds is the

greatest?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CO2

CH4

NH3

H2O

https://dl.doubtnut.com/l/_CQ0panHPx4Fy


46. Which of the following species contains

three bond pairs and one lone pair around the

central atom?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

H2O

BF3

NH −
2

PCl3

https://dl.doubtnut.com/l/_iQlNXMPfl5nI


47. The shape of  molecule is

A. linear

B. pyramidal

C. tetrahedral

D. square planar

Answer: D

Watch Video Solution

XeF4

https://dl.doubtnut.com/l/_W2X8t7rl9ASj


48. Which is false statement about LCAO

A. addition of atomic orbitals results in

molecular orbitals.

B. Atomic orbitals of nearby same energy

combine to form molecular orbitals.

C. Bonding molecular orbitals occupy

higher energy than atomic orbitals.

D. Each molecular orbital accommodates

maximum number of two electrons.

https://dl.doubtnut.com/l/_Is3BVPr7ZTtY


Answer: C

Watch Video Solution

49. The bond order of a molecule is given by

__________.

A. the total number of electrons in

bonding and antibonding orbitals

B. the difference between the number of

electrons in bonding and antibonding

https://dl.doubtnut.com/l/_Is3BVPr7ZTtY
https://dl.doubtnut.com/l/_nFIEwMLRrjvH


orbitals

C. twice the difference between the

number of electrons in bonding and

antibonding orbitals

D. half the difference between the number

of electrons in bonding and antibonding

orbitals

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_nFIEwMLRrjvH
https://dl.doubtnut.com/l/_qRxLsxD031e7


50. If bond order increase than ___________.

A. energy and bond length increase

B. energy increases, bond length decreases

C. energy increases, bond length increases

D. both decreases

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_qRxLsxD031e7


51. Which one of the following sepcies is

diamagnetic in nature ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

He+
2

H2

H +
2

H −
2

https://dl.doubtnut.com/l/_5UTLfLWK2CjY
https://dl.doubtnut.com/l/_u3xc1IU3sn6Z


52. The bond order in  molecule is ________.

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

N2

53. The bond order in  ion is __________.N +
2

https://dl.doubtnut.com/l/_u3xc1IU3sn6Z
https://dl.doubtnut.com/l/_zQY4hTcaSslc


A. 1

B. 2

C. 2.5

D. 3

Answer: C

Watch Video Solution

54. Which of the following is paramagnetic?

A. B2

https://dl.doubtnut.com/l/_zQY4hTcaSslc
https://dl.doubtnut.com/l/_fk3WFbGbvWw5


B. 

C. 

D. 

Answer: A

Watch Video Solution

C2

N2

F2

55. The paramagnetic property of the oxygen

molecule is due to the presence of unpiared

electrons present in .

https://dl.doubtnut.com/l/_fk3WFbGbvWw5
https://dl.doubtnut.com/l/_lTJwIidv3Tkf


A.  and 

B.  and 

C. and 

D. and 

Answer: C

Watch Video Solution

(σ2px)1 (σ ∗ 2px)1

(σ2px)1 (π2py)
1

(π ∗ 2px)1 (π ∗ 2py)
1

(π ∗ 2py)
1

(π2py)
1

56. The increassing order of bond order of

and O_(2)^(--)` is :O2, O+
2 , O−

2

https://dl.doubtnut.com/l/_lTJwIidv3Tkf
https://dl.doubtnut.com/l/_9hWcPewDu10v


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

O+
2 , O2, O−

2 , O2 −
2

O2 −
2 , O−

2 , O+
2 , O2

O2, O+
2 , O−

2 , O2 −
2

O2 −
2 , O−

2 , O2, O+
2

57. The boiling point of a compound is raised

by _________.

https://dl.doubtnut.com/l/_9hWcPewDu10v
https://dl.doubtnut.com/l/_3L5eXpYworGU


A. intramolecular hydrogen bonding

B. intermolecular hydrogen bonding

C. covalent bonding

D. ionic covalent

Answer: B

Watch Video Solution

58. The hydrides of the first elements in

groups 15-17, namely  and HF

respectively show abnormally high value for

NH3, H2O

https://dl.doubtnut.com/l/_3L5eXpYworGU
https://dl.doubtnut.com/l/_29IuqxOjgk1A


melting and boiling points. This is due to

_________.

A. small size o N, O and F

B. the abitity to form extensive

intermolecular H-bonding

C. the ability to form extensive

intramolecular H-bonding

D. effective van der Waals interaction

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_29IuqxOjgk1A


59. Indicate the nature of bonding in diamond

A. Covalent

B. ionic

C. coordinate

D. hydrogen

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_29IuqxOjgk1A
https://dl.doubtnut.com/l/_vmrVx9lNBCGT
https://dl.doubtnut.com/l/_Tg4avNHn96UA


60. Which of the following is a correct set with

respect to molecule, hybridization, and shape?

A. , linear

B. , triangular planar

C. , triangular planar

D. , triangular planar

Answer: C

Watch Video Solution

BeCl2, sp2

BeCl2, sp2

BeCl3, sp2

BeCl3, sp3

https://dl.doubtnut.com/l/_Tg4avNHn96UA


61. The bond angle and dipole moment of

water respectively are 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

:

109.5∘ , 1.84D

107.5∘ , 10.56D

104.5∘ , 1.84D

102.5∘ , 1.56D

https://dl.doubtnut.com/l/_Tz3PovuakYj1
https://dl.doubtnut.com/l/_XwWlVgxAMdFF


62. Which one of the following pairs of species

have the same bond order ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CO, NO

O2NO+

CN − , CO

N2, O−
2

https://dl.doubtnut.com/l/_XwWlVgxAMdFF


Evaluation Test

1. In a homologous series, the percentage of 's'

character __________.

A. increases gradually

B. decreases gradually

C. remains the same

D. increases to a cirtain molecules and then

decreases

Answer: C

https://dl.doubtnut.com/l/_xTNVaakok7XR


Watch Video Solution

2. Which of the following molecule has two p-

orbitals unused?

A. 

B. 

C. 

D. 

Answer: B

BF3

BeF2

NH3

C2H2

https://dl.doubtnut.com/l/_xTNVaakok7XR
https://dl.doubtnut.com/l/_YMAs9KQm0Wb2


Watch Video Solution

3. Energy required to dissociate  of gaseous

hydrogen into free gaseous atoms is 

at  


The bond energy of  bond will be

A. 104 kcal

B. 52 kcal

C. 520 kcal

D. 5.2 kcal

4g

208Kcal

25∘C

H − H

https://dl.doubtnut.com/l/_YMAs9KQm0Wb2
https://dl.doubtnut.com/l/_wyK5SRhsXDMl


Answer: A

Watch Video Solution

4. What happens when aluminium reacts with

NaOH in presence of water molecules ?

Watch Video Solution

5. What is the geometrical shape of

?[Pt(Cl)4]
2 −

https://dl.doubtnut.com/l/_wyK5SRhsXDMl
https://dl.doubtnut.com/l/_URI2DvQyWrSS
https://dl.doubtnut.com/l/_WMz7uunxHeVq


A. Planar triangular

B. Square pyramidal

C. square planar

D. tetrahedral

Answer: B

Watch Video Solution

6. Stability of the species  and 

increases in the order of

Li2, Li−
2 Li+

2

https://dl.doubtnut.com/l/_WMz7uunxHeVq
https://dl.doubtnut.com/l/_uA0GasbbdA5h


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Li−
2 < Li2 < Li+

2

Li2 < Li+
2 < Li−

2

Li−
2 < Li+

2 < Li2

Li2 < Li−
2 < Li+

2

7. Which of the following is NOT used to

represent bond angles ?

https://dl.doubtnut.com/l/_uA0GasbbdA5h
https://dl.doubtnut.com/l/_Ch2eEiMcRjCe


A. Degrees

B. Minutes

C. Seconds

D. Milliseconds

Answer: D

Watch Video Solution

8. The number of sigma bonds in 

 is

_________.

CH2 = CH − CH = CH − C ≡ CH

https://dl.doubtnut.com/l/_Ch2eEiMcRjCe
https://dl.doubtnut.com/l/_H4J5UjLSKsb8


A. 5

B. 9

C. 11

D. 10

Answer: C

Watch Video Solution

9. The stability of ionic crystal depends

principally on

https://dl.doubtnut.com/l/_H4J5UjLSKsb8
https://dl.doubtnut.com/l/_GCDp3sngQ4gM


A. high electron affinity of anion forming

species

B. the lattice energy of crystal

C. low I.E. of cation forming species

D. low heat of sublimation of cation

forming solid

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_GCDp3sngQ4gM


10. An example for an electron deficient

molecule is _________.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NH3

PCl3

BeCl2

IF7

https://dl.doubtnut.com/l/_AMcOahblmQO9
https://dl.doubtnut.com/l/_7DMJmBxgNOs9


11. Octahedral molecular shape exists in

_________ hybridisation.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sp3d

sp3d2

sp2d

sp2d2

https://dl.doubtnut.com/l/_7DMJmBxgNOs9


12. The species having bond angles of 

is _________.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

109∘ 28

CH4

BCl3

PCl5

H2O

https://dl.doubtnut.com/l/_H0yTYgAoC0GG
https://dl.doubtnut.com/l/_SLLHHCmjPMpN


13. The bond angle in ammonia is  due

to _________.

A.  hybridisation of N

B. repulsion between bonding electros and

lone pair

C. higher electronegativity of N

D. tetrahedral geometry

Answer: B

Watch Video Solution

107∘ 18

sp3

https://dl.doubtnut.com/l/_SLLHHCmjPMpN
https://dl.doubtnut.com/l/_gbSMGkba3E2A


14. A molecule is stable when the number of

bonding orbitals is ________.

A. greater than the number of antibonding

orbitals

B. greater than or equal to the number of

antibonding orbitals

C. equal to the number of antibonding

orbitals

D. less than the number of antibonding

orbitals

https://dl.doubtnut.com/l/_gbSMGkba3E2A


Answer: A

Watch Video Solution

15. Which of the following molecules CANNOT

exist under normal conditions?

A. 

B. 

C. 

D. 

Be2

He+

H +
2

Be+
2

https://dl.doubtnut.com/l/_gbSMGkba3E2A
https://dl.doubtnut.com/l/_cXEchbLNQaeZ


Answer: A

Watch Video Solution

16. The electronegativity values of C,H,O,N and

S are 2.5, 2.1, 3.5, 3.0 and 2.5 respectively. Which

of the following is the most polar?

A. O-H

B. S-H

C. N-C

D. C-H

https://dl.doubtnut.com/l/_cXEchbLNQaeZ
https://dl.doubtnut.com/l/_z3TFxgOFCaCa


Answer: A

Watch Video Solution

17. Find the CORRECT set with respect to

molecule, hybridisation and shape.

A.  linear

B. , linear

C. , bent

D.  tetrahedral

CO2, sp2

CO2, sp

BF3, sp

BF3, sp3

https://dl.doubtnut.com/l/_z3TFxgOFCaCa
https://dl.doubtnut.com/l/_BEEaNRu06drE


Answer: B

Watch Video Solution

18. If in a polar molecule, the ionic charge is

 e.s.u. and the inter ionic distance

is 0.8 Å , then the dipole moment is _________.

A. 3.25 Debye

B. 3.08 Debye

C. 1.28 Debye

D. 2.08 Debye

2.6 × 10− 10

https://dl.doubtnut.com/l/_BEEaNRu06drE
https://dl.doubtnut.com/l/_4xnltTjj9Y6F


Answer: D

Watch Video Solution

19. Which of the following does NOT show

hydrogen bonding?

A. 

B. 

C. 

D. 

NH3

HF

H2O

HCl

https://dl.doubtnut.com/l/_4xnltTjj9Y6F
https://dl.doubtnut.com/l/_vKJyevLMAktw


Answer: D

Watch Video Solution

20. Which of the following theory provides

good explanation about the paramagnetic

behaviour of oxygen ?

A. Resonance

B. VSEPR theory

C. Molecular orbital theory

D. Valence bond theory.

https://dl.doubtnut.com/l/_vKJyevLMAktw
https://dl.doubtnut.com/l/_EgP9GlDatN9W


Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_EgP9GlDatN9W

